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BACHELOR OF SCIENCE  

(LIFE SCIENCES) (B. Sc.) 

Term-End Examination 

June, 2023 

LSE-05 : ANIMAL PHYSIOLOGY AND  

PLANT PHYSIOLOGY  

Time : 2 Hours     Maximum Marks : 50 

Note : Use separate answer sheets for Part I and 

Part II. Be brief and precise in your answers. 

Draw neat and labelled diagrams wherever 

necessary.   

 Part—I (Marks : 25) 

(Animal Physiology) 

Note : Attempt five questions in all. Question No. 1 

is compulsory.  

1. (a) Differentiate between the following pairs of 

terms :  2×1=2 
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(i) Alarm pheromones and Trail 

pheromones 

(ii) Ammonotelism and Ureotelism 

(b) Match the items given in Column A with 

those in Column B :  3×1=3 

  Column A Column B 

(i) Calcitonin (A) increases erythrocyte 

production 

(ii) Erythropoetin (B) decreases blood 

calcium levels 

(iii) Secretin (C) stimulates secretion 

of water and 

inorganic salts from 

pancreas 

2. Describe the process of urine formation in 

mammals.  5 

3. Discuss the transport of CO2 in blood. 5 

4. Explain the regulation of temperature in 

homeotherms. 5 
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5. How does osmoregulation take place in 

freshwater animals ? 5 

6. Write notes on any two of the following : 2
1

2
×2=5 

(a) Parthenogenesis 

(b) Green gland of crustaceans 

(c) Excitation of heart 

(d) Oogenesis 

7. Name important insect hormones. Write their 

function in growth and development of insects. 

5 

8. (a) Write any two differences between skeletal 

muscle and smooth muscle. 2 

(b) Describe sliding filament hypothesis of 

muscle contraction. 3 

  



 [ 4 ] LSE-05 

   

 Part—II (Marks : 25) 

(Plant Physiology) 

Note : Question No. 9 is compulsory. Attempt any 

four questions from Question Nos.  

10 to 14. 

9. (a) Fill in the blanks in the following 

statements :  2×1=2 

(i) In Calvin cycle the CO2-acceptor 

molecule is ................. . 

(ii) The cold-treatment given to a plant for 

flowers induction is called ................ . 

(b) Choose the correct alternative from the 

words given in the brackets : 2×
1

2
=1 

(i) (Cold-hardiness/Cold-acclimation) 

refers to the ability of a plant to 

survive ice-formation. 

(ii) Diffusion can be described as a process 

that leads to (total/net) movement of 

molecules, from a region of high free-

energy to a region of low free-energy. 
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(c) Define any two of the following : 2×1=2 

(i) PAR 

(ii) Short-Day-Plant 

(iii) Red Drop 

10. (a) Explain the role of gibberellins in 

production of the enzyme  -amylase in a 

germinating barley grain. 2 

(b) Briefly describe the physiological role of a 

gaseous plant hormone. 3 

11. Trace the path of electron flow between the two 

photosystems with the help of a labelled 

diagram.   5 

12. List any five kinds of stresses a plant may face. 

Mention at least one response to each of them. 

5 

13. (a) Discuss the biological responses controlled 

by phytochrome. 3 

(b) Write a short note on ‘gifted species’. 2 

14. Write notes on any two of the following : 5 

(a) C4 plants 

(b) Osmosis 

(c) Senescence 
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I (  

2×1=2

(i)

 (ii)

A B

3×1=3

A B

(i) (A) 
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(ii) (B) 

(iii) (C) 

2CO

1

2
×2=5
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II (  

2×1=2

(i) 2CO

(ii)

×
1

2
=1

 (i)  
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 (ii)  

]

 

2×1=2

 (i)  

 (ii)

 (iii) ª



ª
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2 

(i) C4  

(ii)  

(iii) 
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